I  the blue line

) //?l Opheaengsstativ
Fhy Veeg-montering eller
5 fritstiende stativ
g
ﬂ"“" Suspension Rack
i Wall-mounting or free-
}é standing rack
r———
H Exhibidor
b Montage de pared o
N aislado
TN
i
g
,====‘5—"ﬁ——-————z\
j::@ ///f;’n
i ==
E ||);;//
7

DIV 401: Veegvange 2.0 mtr
Wallpiece 2.0 mtrs

DIV 402: M12 tveervange 0.5 mtr
M12 cross bar 0.5 mtrs

DIV 403: M16 tveervange 0.5 mtr
M16 cross bar 0.5 mtrs

DIV 404: M12 beerestang m/mgtrik
M12 bar w/nut

DIV 405: M16 beerestang m/mgatrik
M16 bar w/nut

DIV 406: M6 beerestang m/mgtrik M12
M6 bar w/nut M12

DIV 407: M8 beerestang m/mgtrik M12
M8 bar w/nut M12

DIV 408: Sammenkoblingsseet
Connecting piece

DIV 409: Sokkel, hel
Socket, double

DIV 410: Sokkel, halv
Socket, half

AIS

ning

03.02.Grafisk Centrum Herr

B Brdr. Markussens Metalvarefabrik A/S IIEIEIEIEGEGEGEE

Sverigesvej 5-11 - 7480 Vildbjerg - Denmark - Tel. +45 97 13 12 66 - Fax +45 97 13 12 13 - E-mail: sales@blueline.dk



